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'yt & 1 1Y & FEH F SHUR SAIET ------ GRiidT 8

A. d1dd W 9d I fa=m
B. sargyl &l fazn

C. URdEMF &I fgan

D. fdgyd yr1varg &l fa=n

Ans o AA
X B.B
K C.C
& D.D

Question ID : 5834939839
Status : Answered
Chosen Option : A




" DCRic HIR T €l &
A.Tald
B.Tal,
C.Tall,

D.Ta 1/12

Ans X A A
& BB
X c.c
X D.D

Question ID : 5834939762
Status : Answered
Chosen Option: B

Q3 i wR s W UGN B =Ry 9 F =i o ot 8 3R 3/ Serar foar s g2
A. T URd | 3-Ts gad farera fdavor, R sifiifa=ara § siar g
B. @i ©R Wetr H WIg URI Ud el GHH il 3
C. Fifd a8 I &A1 ATeTl BId1 ¢ SR Soll B! Fad XAl 8
D. T a8 Hfi® dice f[afimars &1 agH & G&dr 8
Ans X A A
X B.B

& C.C
X D.D

Question ID : 5834939829
Status : Answered
Chosen Option: B




Q.4

TS U/aR @134 | afed Fad® & FIeH g UaH o 9 g

A. TR A5 R faerdt iR | Ao

B. UIaR @3- # faoiel! ol ®f Y H RIMHR &
C. Hf¥® dlecol H &

D. Aeigld! died § faeied! TR 9 A+

Ans X A A

« B.B

X c.cC

X D.D

Question ID : 5834939800
Status : Answered
Chosen Option: B

Q.5

Ans

YTRF fam A oo f S s s 9§
A favd sdects Bt 3l figyd yrT saddts, T8 (4 o) I aiftes g R W@ o @
B. favd golagie @ srtef fggd YR soiagts, g (3 o) A & g R W i 8

C. fava 3aiacrs oiR faggd yRT 3aeers <, 713 (o fire) & o o8t W fhg foudia femm &

RECAEInE
D. A9 & ¢ 3 AR DC gy 4RT &7 Wt el &
& AA
X B.B
xc.c
X D.D

Question ID : 5834939809
Status : Answered
Chosen Option: D

Q.6

Ans

Unit of measurement of magnetic flux density is ?

A. Weber
Ampere turn
Tesla

o N w

Henry
X AA
X B.B
& C.C
X DD

Question ID : 5834939765
Status : Answered
Chosen Option: C




Q7 Which of the following lamps have least stroboscopic effect compared to others?

A. HPSV
B. HPMV
C. Metal Halide

D. LED
Ans X A A

X B.B
Xc.c
o D.D

Question ID : 5834939777
Status : Answered
Chosen Option : D

Q8
§1ge oY Ugfd & @i O (8 ¢ orgd sfeerel & a9 T TR 3@1 9rdl 87

og gl ofu quidqar us=d gl

os gt ¢y quiaar &5 81

O U ofd &I g P4 AR UL 34 Sy 9|
. o9 o9 o gt @l fauid o= o ged g

0 0w o

Ans X A A
X B.B
& C.C
X DD

Question ID : 5834939804
Status : Answered
Chosen Option : A




RO 21521 E5 21 o) 3 1310) e 4 o203 4 o

A, Tagga Tura 91 |

B. CHUHIER THHIR0 o

c. drdiy ufdfda d

D. UEfiA gHMi uiay |

Ans X A A
X B.B
X c.c
& D.D

Question ID : 5834939805
Status : Answered
Chosen Option: D

Q10 S & oruR ua- Ae Svft @1 i S H aroee W @ B 8

A. 120 8T .
B. 130U,
c. 155 f&ht 4.
D. 180 f&U 4.

Ans X A A
X B.B
X c.c
& D.D

Question ID : 5834939840
Status : Answered
Chosen Option: D




Q1T How many 5 Amps, 250 V switches are required to control one lamp from two different

places?

A. 3 Nos of single pole switches

B. 2 Nos of 3 pole switches

C. 2 Nos of 2-way switches

D. 1 No of three pole and neutral switches

Ans X A A
X B.B

o« C.C
X D.D

Question ID : 5834939811
Status : Answered
Chosen Option: C

Q.12
e LED D1 Gafdl 80 TTHY/AIE §, Al 20w LED Zd TIgC &I AT3eYe &l gill?

A. 1600 TS
B. 1600 Bedl

C. 1600 TIHY

D. 1600 @i

Ans X A A
X B.B
& C.C
X DD

Question ID : 5834939776
Status : Answered
Chosen Option: B




013 owud 100w a1 @ v A B 230 vAc MR ¥ FARIR & Frer o 2
FofaT g I s aTsuT ga e?
A. 40 W ITET 3T 100 W TTS ST & SHTST WebTeT ST &
B. 100 w ATCN TT 40 W A AT § SHTST HeBTT &l &
C. EFI 3T U THH W 271
D. Gl o0 W el gt

Ans X A A

« B.B

X CccC

X D.D

Question ID : 5834939830
Status : Answered
Chosen Option: B
Q.14
b fagqd o T Uil shae Mg Ydled 87

A. ©H YR IIal ol TIa g
B. & YR dleil BI¢] gull dhad
C. TddisHt

D. X ¥R grelt Qerdl e agH

Ans @ AA
X B.B
K cCcC
/< D.D

Question ID : 5834939801
Status : Answered
Chosen Option : A




a1 U did & AR B YRT < ST DI &A1 51 811 oD o4 34 did & dR o o &1 ol

TR
A TR
B. QI
c. el
D. PI3 URad- Tel

Ans @ AA
X B.B
KX cCccC
/< D.D

Question ID : 5834939764
Status : Answered
Chosen Option : A

Q16 Prpferfaa 7 @ fbw SFEyENT & Tad A.C. HIeR &1 ga # D.C. HieR &1 Ui fhar o g2

EGERIGREINE
3 T1fel gdrer
. uRkad=zha ufd udreq
. feRrfd yaraq
Ans X A A
X B.B
& C.C
X D.D

O 0 m >

Question ID : 5834939791
Status : Answered
Chosen Option: C




Q.17

[l SURDR H YREM &1 R IP:54 GRIIdT &

A. %d I Y&
B. SR a¥d3il I Y&
C. AdUIB
D. ¢ Yiche I e
Ans X A A
X B.B
& C.C
X D.D
Question ID : 5834939817
Status : Not Answered
Chosen Option : --
Q18 Fyfafaa 7§ Q i At emafi s1ue IR W argEE # ey Suel & o vged &1 ol §
A. 50T
B. 400 &<
C. 60%eo
D. Sil
Ans X A A
« B.B
xc.c
X D.D

Question ID : 5834939826
Status : Answered
Chosen Option: D




el Tiiex atuy & e SRR RS - Rigid W B B 21
A. HIR &1 HSell & dIudM &1 drdig {19 TR 1R
B. HIeX &I dlsl &b d1d Ydg WR R
C. Hiex fagyd URT yanferd fgerfcdd I Mo ardl S UR suRd
D. YRARIES d9aM § gie TR Serid

Ans X A A
X B.B
& C.C
X D.D

Question ID : 5834939815
Status : Answered
Chosen Option: C

B el & ESD = vd gran sgd Ae@yuf &l giar g1
A. AfeET ghH
B. TRTA fidex
c. Ty gy fAafg &
D. WTEdaR WANTRITETY
Ans X A A
X B.B

& C.C
X DD

Question ID : 5834939808
Status : Not Answered
Chosen Option : --

Q21 e Gafia 3 o TR YR F, et URT 5A 21 af G YR ) 3ceT A ST AT & At
el ST &7 gt
A 106 A

=

1732 A
C. 577TA
D. 8.66 A

Ans X A A
X B.B
xXcc
" D.D

Question ID : 5834939790
Status : Answered
Chosen Option: D




22 Rt &1 w8 WA Ry

Ans

—))) )

1st 2nd 3rd ath Band
Red Red Brown Gold

A 22 ohms
B. 220 ohms
C. 2.2 kilo ohms
D. 2.2 milli ohms

X AA
" B.B
xXcc
X D.D

Question ID : 5834939838
Status : Answered
Chosen Option : B

e IR TG Yy6 TR SRWER J HY & gy T LV &1 bl [RI9e 741 87

Ans

A. 180 &t am
B. 30 f&uUi@m
C. ofsH

D. 30 f&didts

o AA
X B.B
xXcc
X D.D

Question ID : 5834939786
Status : Answered
Chosen Option : A




Q.24 If a 440 Volts rated heater is used on 220 V supply, heat produced by it will be equal to

of the original

A. Four times
B. 1/4
C. Two times

D. 12
Ans X A A
« B.B
X c.c
X D.D

Question ID : 5834939773
Status : Answered
Chosen Option: D

Q28 10 sq.mm. T, el fagaerie varet trot dof ..... DR (@) &1 SR 4R &1 a6 dhifl?

A. 10 Amps
B. 100 Amps

C. 40 Amps
D. 16 Amps

Ans X A A
X B.B
& C.C
X D.D

Question ID : 5834939813
Status : Not Answered
Chosen Option : --

Q26 Tpe Arcing ground phenomenon is related to Electrical systems?

A. Ungrounded Long HV AC transmission
B. Loose connection of Phase at outdoor transformer’s terminal
C. Loose connection at Earthing terminal

D. Arcing due to lightning

Ans o AA
X B.B
K cc
X D.D

Question ID : 5834939797
Status : Not Answered
Chosen Option : --




Q27 =g fafe grR1 St uref Hiex dqul YR 1fd T 4fee i Ui HR Jabdi §
A. &7 fdggd 4RI &l g
B. & faggd URI &I 9gIax
C. SR fagyd 4RI &l gcTdx
D. 3R fAggd 4RI &l IGIHR

Ans o AA
X B.B
X cCc.cC
/< D.D

Question ID : 5834939793
Status : Answered
Chosen Option : A

.28 T YA diecs HUTd & Gl SAHIHR YHFIGR o TEierd & of d HEaR are e &l

A. 50% - 50%

B. U $diY I & GHMUNIS

C. U dIE & & FHTUIS

D. 100% WYH SGHR Y dig gimrR

Ans X A A
« B.B
Xcc
X D.D

Question ID : 5834939780
Status : Answered
Chosen Option: B

Q29 o b it qero1 8 DRUT R et dledot ARG adl 3, g TR 8 Fwfofiad i §
&Y I &2
A XEATIT YRT g
B. I 4RI Tl
C. AT YR Tl
D. A eldh del

Ans o ACA
X B.B
X c.c
X D.D

Question ID : 5834939788
Status : Not Answered
Chosen Option : --




Q.30 ‘Which is not a common method used in conversion of AC to DC?

Motor Generator set
Rotary converter

Mercury arc rectifier

S 0w

Inverter

Ans X A A

xcc
& D.D

Question ID : 5834939770
Status : Answered
Chosen Option: C

Q.31

YRT TEHIER JIYRUMG: WS gq WIRT fdar &1 87
A. §8d URT faaRo

B. §ed YRT A9 uRuy

C. URTEU g

D. TraR faarur

Ans X A A
& BB
X c.c
X D.D

Question ID : 5834939824
Status : Answered
Chosen Option : B

Q.32

YR(@re) &1 fagyd smufd &3 & for feueT v == o s
A. ¥ 39 IHEER

B. U 3 SUHIR

C. JYFHR] BT

D. U7 TRHTIER

Ans X A A

X B.B
Xc.c
& D.D

Question ID : 5834939769
Status : Answered
Chosen Option: D




Q.33

Y UlaRIeyd® Uiy &1 fdggd 9cd g?

A. gl
B. GiRI

c. offi
D. TS

Ans o AA
X B.B
K C.C
& D.D

Question ID : 5834939833
Status : Answered
Chosen Option : A

3 If Yo TR U@ & @ Y 3 qe § O @) e afRiu
w87

0.94

0.625

1.6

o n = F

. 2.8
Ans X A A
« B.B
X c.c
X D.D

Question ID : 5834939767
Status : Answered
Chosen Option: B




Q.35 Qg 2weR 1 WEN B §Y WA A4 HITA b SR SIS A& e A1 61 a b Guamaiy &l surar b
Sg?

10 e

10 Ydhs & iaR

b firre

15 fiFe

Ans X A A

X B.B
& C.C
X D.D

o 0N w x>

Question ID : 5834939822
Status : Answered
Chosen Option: B

93¢ Frofifaa & @ 19 91 fagga sraged Ni-Cad 9 # Ugd a1 sirm 82
A. Fifgd Hsfmm
B. dd H2504
C. 3rgfad oa

D. URREH BIESIBHIRISS
Ans X A A

X B.B

Xcc

& D.D

Question ID : 5834939841
Status : Answered
Chosen Option : A

Q.37 Starting winding of a single-phase refrigerator compressor motor is disconnected after

starting by means of ?

A. Magnetic relay
B. Centrifugal switch
C. Timer

D. MCB
Ans o AA
X B.B
K ccC
< D.D

Question ID : 5834939832
Status : Answered
Chosen Option: B




Q.38

Shaded pole motor will have in its circuit
A. Squirrel cage rotor
B. Starting capacitor
C. Centrifugal switch
D. All the above three
Ans @ AA
X B.B
K C.C
& D.D
Question ID : 5834939794
Status : Answered
Chosen Option : A
Q.39

How many power contactors are required for making a fully automatic star — delta starter for

an induction motor?

g 0w >

.4
.3
.2
.6
Ans X A A

 B.B

xXcc
X D.D

Question ID : 5834939789
Status : Answered
Chosen Option : A

Q40 The effect of harmonics in power distribution system is ?

A. LowPF
B. Higher losses
C. Lower eddy current loss
D. High efficiency
Ans X A A

& B.B
xXcc
X D.D

Question ID : 5834939782
Status : Not Answered
Chosen Option : --




A. 3 dreS WiaRiY

;%

-~

el

Ans X A A
X B.B
& C.C
X D.D

Question ID : 5834939835
Status : Answered
Chosen Option: C

Q.42 The reciprocal of resistance is?

Susceptance
Conductance

Impedance

ocaw»

Reactance

Ans X A A
& BB
X c.c
X D.D

Question ID : 5834939825
Status : Answered
Chosen Option: C




Q.43

Ans

U IR T 15 W, 230 V IR SeIW i 100w, 230V @ U1y U 4@l H 981 &

qUT 230 V BT U T 741, 9 Ol @ ... U BFTI
A GHI STl &1 UabT=T U 99 g
B. U ST b HFHR CHI IRl DT UhT=I GRT BT
C. 100 w T BT I wareT sl
D. 15W OF & I SaTeT gRi

X AA
X BB
X cc
& D.D

Question ID : 5834939821
Status : Answered
Chosen Option: D

Q44 3 PR U AR B vry & =9 § SRR fbar man €1 s @1 Sd dear g2

Ans

A. €T I v Tid Safad pve § Jafdd g

B. Ufeia=aw 9meie pvc faggariel wure Reu pyvc Pafrd dTel 3axu

C. dial 9ree xLpe [Aggaritl §uIe Sdfed pvc HTaR0l
D. idT = pvc f[aggerid qure U pyvc Pafrd STgT SaRo

X AA
X B.B
X cc
& D.D

Question ID : 5834939814
Status : Answered
Chosen Option : A




O Drgfafad § A g Hicy &1 4R (@1S) W URH cTh 9aifis giar e

Ans

>

. Sl gufl Hlex
Tt goft A’

o 0O w

o AA
X B.B
Xc.c
X D.D

JedbIfeis Al
. PR B U AR

Question ID : 5834939792
Status : Answered
Chosen Option: B

Q.46

Ans

Recommended discharge current from a 120 AH ,12 V ,20C lead acid battery for maximum

life and efficiency is ?

A
B.
C
D

XAA
« B.B
xXc.c
X D.D

. 120 amps

6 amps

. 12 amps
. 20 amps

Question ID : 5834939828
Status : Not Answered
Chosen Option : --




47 o faggda WR akw arERiE TR SR 2kvAR SR sfifrareia wfes e 21 gk
YR TIfad TUIs U &3 & (o0 Siawas S 3 31 d2 grft
A 3KVAR
B. 2 KVAR
C. 5KVAR
D. 1.5 KVAR
Ans X A A
BB
xXcc
X DD

Question ID : 5834939768
Status : Not Answered
Chosen Option : --

Q.48
which of the following breakers not suitable for 220KV power systems?

SF6
VCB
MOCB
ABCB

o 0w >

Ans X A A
 B.B
Xcoc
X D.D

Question ID : 5834939818
Status : Answered
Chosen Option: B

Q.49 Capacitors should be discharged 2

A. Through conductor
B. With one pole earthed
C. Resistor

D. With two pole earthed

Ans X A A
X B.B
& C.C
X D.D

Question ID : 5834939806
Status : Answered
Chosen Option: B




Ans

Q50 i po) Al B R S P T HYT Id ©

A. SI RIS A1ex g1 YR W SifEe 1fd 9 9adl &
B. SN RRIS e &1 YRy qagul HH a1 8

C. It 2 Hiex &1y aar 3 giar g

D. St Rie Aier 3iffs o1 oo RRie nfa I gadi §

o AA
X B.B
Xcc
X D.D

Question ID : 5834939819
Status : Answered
Chosen Option : A

Ans

e dididi faggd dr &1 -Hd YrErg UdicH d1d &1 87

A. 70 &3 Odtie
B. 90 f&di Udiue
C. 60 f&i e
D. 50 f&di it

o AA
X B.B
xXcc
X D.D

Question ID : 5834939810
Status : Answered
Chosen Option: B




Ans X A A
X B.B
X c.c
& D.D

Question ID : 5834939766
Status : Answered
Chosen Option: D

Q33 3000 A & STET Hie e & forg Rafe qur QRféa e & o sarer a=
1 I9gad B2
A. ACB
B. MCB
C. MCCB
D. ELMCB

Ans o AA
X B.B
Xc.c
X DD

Question ID : 5834939816
Status : Answered
Chosen Option: D




Q

Ans

A.
B.
C.
D.
X AA
X B.B

xXcc
& D.D

e
add
dHear
EUGKAKI

Question ID : 5834939775
Status : Answered
Chosen Option: D

Q

Ans

" ST QB e el @ e T 2 2

A, SodGASE
B. WiC
C. UTHEjTR 3R

D. KVA

XAA
X B.B
Xc.c
& D.D

Question ID : 5834939771
Status : Answered
Chosen Option: D




Q56 g @ @19 O Juta gardl @ Ac H2iF F AT $Ra GG S g RR g1 Ud Bea 82
A. Ueferd 99 381G
B. Hdd 3HWII
c. Rufae swrd
D. o dIaX 38T
Ans X A A
X B.B
& C.C
X DD

Question ID : 5834939837
Status : Answered
Chosen Option: C

7 guf dis & aaee i SRWIR FE 4 S S e g B
A DR BIA
B. ©NUT I
C. YR YRIBIH

p. fgeRRm g

Ans X A A
 B.B
Xcoc
X D.D

Question ID : 5834939783
Status : Answered
Chosen Option : B




** RRIUR (3iaRes) g uurel & e &1 a1 fded TTerd 82

Ans

A. 3NRES T1ad A4 GIARH) I 3Fad 8
B. SREUT S 8

C. Wled &l UG i

D. 3oy fasrelt 48t Rl

XAA
X B.B
xXcc
& D.D

Question ID : 5834939799
Status : Answered
Chosen Option: D

Q.59

Ans

“Proximity effect” 0 H ¥ fou oA o S wman &

A. 3 dicedl ST TrffRE

B. Tdl 3Ud A3 & HRUI faggd ¥

C. didd § AC P D Udle I

D. UfHde drcs | faggd YR yarg d I UdEd! Geia 9§

XAA
X B.B
Xc.c
& D.D

Question ID : 5834939763
Status : Answered
Chosen Option: D




Q.60

Ans

QU T qOHIUi AYS T Sing BT |- &1 g2

>

a/c

b/c

X AA
X B.B
o C.C
X D.D

Question ID : 5834939836
Status : Answered
Chosen Option : A

Q.61

Ans

Which one of the following has highest short circuit breaking capacity?
A.MCB
B. ELMCB
C. Over load relay
D. MCCB

X AA
X B.B
xXcc
& D.D

Question ID : 5834939820
Status : Answered
Chosen Option: B




Q.62 fow many units of energy delivered from a 200Ah 12V battery used under standard specified

discharge condition?

A. 2.4 units
B. 200 units
C. 12 units
D. 20 units

Ans o AA
X B.B
K C.C
/& D.D

Question ID : 5834939831
Status : Not Answered
Chosen Option : --

Q.63
fARfegd oy H 4 fbd &1 39 &I Jo- H d8al CRI &7
A, HPSV
B. HPMV

C. Hed gdlgs od

D. LED

Ans X A A
X B.B
X c.c
& D.D

Question ID : 5834939774
Status : Not Answered
Chosen Option : --




Q.64 Td 3fiefiis gh =T 10 "l & R 415 v, 50Hz Tad T Tl WHH HR T ol HRH, R TR 1

KW@ 0.9pf T2rTHT T Teiig 4R, Y Thel W 2kw@UPF &1 dldd HR 3R 3 Tl TIRTSEUH BTHR
10KW@0.8 TTTHY M & | a1 gRTSUHRT &1 ST 361 Sl fddrii 6 2
A. 1307FT
B. 100.9 [T
C. 13ygHe
D. 653Fc
Ans  F AA
X B.B
Xcc
X D.D

Question ID : 5834939823
Status : Answered
Chosen Option: A

Q6% o iRurdiieR 415V, S0Hz, 3%, 2 #d @1 gegaTal T1fd T & ofd ATYfd BT 3MaRT 52Hz 77

3000 RUITA
2880 RUITA
1500 HRUITH
. 3120 RUITA

Ans X A A
X B.B
Xcoc
& D.D

=

Question ID : 5834939795
Status : Answered
Chosen Option: D

Q66 g7 gnmr af et U oo diex dlex 1 WHI dieedt MR arell €t omgf @ s e sme?
Tg 31¢f a9 W S ST

Tg B TEl BT

IE A0 ST ST

Bl AR adlds 9 & &u

o0 ® >

Ans X A A
X B.B
X c.c
& D.D

Question ID : 5834939827
Status : Answered
Chosen Option: D




Q.67

Ans

T THIHRI & fWg § &1F 91 &Y 9d 87

A. 5 o1 & Uyt S uRuy § IHFGR 9 H 99 gl 8

we)

. Tt pr 1 Tnufte oot uRuy § 2ol B B S Bl ®

c. ®YEr3A pT H fgcias Feferal muftie Heferdl ¥ oA gl §
D. TiaR TRAGIER &I a1 H cT 3R pT &I Bl laR T 31fih §

X AA
X B.B
& C.C
X D.D

Question ID : 5834939778
Status : Answered
Chosen Option: C

Q.68

Ans

ooy faqgd 97 @ IaH Uguu Bl 82

A. AMHSE
B. Siod
c. didig
p. R

XAA
X B.B
xXcc
& D.D

Question ID : 5834939803
Status : Answered
Chosen Option: D




Q.69

DRIFr Wsq by fdggd yuredl 9 Heied g2

HVAC

UG &ed
HVDC
LV

o0 wp

Ans o ACA
X B.B
X C.cC
/< D.D

Question ID : 5834939798
Status : Answered
Chosen Option : A

70 = B P2 fcgy SUBU 9 & R B B A 22
A 33Ul 64 Y& gad SUDYI
B. HTSUT 68 YR&T ol JUBU
C. MUl 54 Y& ol SUDRT
D. MUl 20 YR& ol USRI

Ans X A A
 B.B
Xcoc
X D.D

Question ID : 5834939807
Status : Not Answered
Chosen Option : --




Q.71

CRIHBIR BT emf THIGRT Es........... V3

A. 4.44.0m.f. Ns
B. OZNP/60A

C. 4.44.0m.fNp
D. 1.11.0m.f.Ns

Ans @ AA
X B.B
X C.cC
/< D.D

Question ID : 5834939784
Status : Answered
Chosen Option: A

72 it v iR aRweT 3 v 7
A, TEFaa og IO AR
B. HUH® AT
C. Sial ¥e
D. Jegeheil Al
Ans o AA
X B.B
Xc.c
KD.D

Question ID : 5834939796
Status : Answered
Chosen Option: A




Q73 et ac ufvay gRT o 7S SmuTh figga Wfad 5 kva R Ofa fegd Tfda 4 kw B |
kvA T gikay o gicrerd! fagya il giit
A5
B. 3
C. 2
D. 1
Ans X A A
« B.B
X c.c
X D.D

Question ID : 5834939834
Status : Answered
Chosen Option: B

Q74 PR UBR F B & fou o ag E 2

A THHUS daDig Uy grar g
B. &R 3THaTE $H 81 &
C. IR FIC B &4AGA HUS BIal § Hd: BH ¢4 & ATTaHdl giall &
p. 3 dieeal ay1 g ofdq I & foe sugm g g
Ans X AA
X B.B

& C.C
X D.D

Question ID : 5834939772
Status : Answered
Chosen Option : B




Ans

Question ID : 5834939779
Status : Answered
Chosen Option: D

Q.76

Ans

The primary winding of a 220/ 6 V, 50 Hz transformer is energised from 110V, 60 Hz
supply. The secondary output voltage will be 2

A 60V
B. 3.6V
C. 30V
D. 2.5V

X AA
X B.B
& C.C
X D.D

Question ID : 5834939785
Status : Answered
Chosen Option: C




Q.77

Ans

5000 KVA, 11KV/433V, ST2I/ER, Dy11, X5k UHR & fagygd fAaRul SwIsR! & forg fFAnfafaa
TR O srfarf g 82

A Teiew
B. ol Y&
c. Y Wi a
D. TM¢ widhe Fran et
o A A
X BB
X c.c
X DD

Question ID : 5834939781
Status : Answered
Chosen Option : A

Q.78

Ans

URUT HieRl &1 dftfa gord (g 7T SHaR R --- o1g &1 &+ gidi &
A. RftreT e
B. I
C

s

. BRI B

D. TgH+aH

X AA
X B.B
& C.C
X D.D

Question ID : 5834939787
Status : Answered
Chosen Option: C




7 yq arafar & A A T wWige & Y wdd dR &1 A o1 ghe

1.5 sg.mm Cu
0.5 sg.mm Cu
0.75 sg.mm Al

o 0 Wz

4 sq.mm Al

Ans o AA
X B.B
Xcoc
X DD

Question ID : 5834939812
Status : Answered
Chosen Option : A

280 iex st @ sreian, fagyd e & BTG Hlee BT AU gl e
A. diecdl U

B. faqyd ¥R
C. 3ERI YR
. Ifad UId JUR
Ans X A A
X B.B
X coc
& D.D

o

Question ID : 5834939802
Status : Answered
Chosen Option: D




